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A knot diagranﬂ Cy C6 C4 Ci1 G
Ideals for irreducible component#ﬂ)f Xpar

I = (—u® —2u™® 4+ b —2u, v+ a2, w20 du 1)

= (w?+b, —u®+atu u* —u®+u?+1)

* 2 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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It = (—u?*—2u’8+.. .4 b—2u, u®+u?"+-.-+a+2, u3?+2u3 +- . - +4u+1)

(i) Arc colorings
1
ag = O
ag =
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—uT — 23
uw b +2ud +u
—uT — 23
ag = \u’ +ud+2u+u
(ii) Obstruction class = —1

(iii) Cusp Shapes

= 43T 4-8u0 +19u?? +22u28 4+ 7217 +97u?0 + 19912 +195u?* +434u?3 +440u?2 +814u?! +
663u2° +1230u'? +-979u'8 +1669u' " + 1135116 418261 4+ 1208u!* + 18203 +1120u!2 +
14320 +910u'° 49961 +668u8 +516u” +390u’ +216u° 4+ 187u? +58u3 +55u? +13u+11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs oo —du 1
C2,C4,Ce U32+6u31+"'—56u2+1
Cr
c3, Cg u3? —udt 4 4 24u — 16
C8, €10, C11 w4+ 5wt o —du—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, 65 y* 46y 4+ =56y + 1
C2,Cy4,Cq y32+42y31+_112y+1
C7
€3, Co Y32 — 27y o 448y + 256
Cg, €10, C11 y32—35y31+--~—22y+1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.213719 4 0.9804611
a= 0.92583 —1.262961
b= 10.082336 + 0.6964991

4.40938 — 2.903201

5.62644 4 3.882911

u = —0.213719 — 0.9804611
0.92583 + 1.262961
0.082336 — 0.6964991

4.40938 + 2.903201

5.62644 — 3.882911

—0.644830 4 0.7751851
2.23380 + 1.344881
—0.42916 — 2.425151

4.97796 — 2.413241

9.06378 + 3.468291

—0.644830 — 0.7751851
2.23380 — 1.344881
—0.42916 + 2.425151

4.97796 + 2.413241

9.06378 — 3.468291

0.798476 + 0.5792511
—1.76126 + 0.161371
0.88715 — 1.742441

10.60130 — 2.723391

11.99326 + 0.767401

0.798476 — 0.5792511
= —1.76126 — 0.161371
0.88715 + 1.742441

10.60130 + 2.723391

11.99326 — 0.767401

0.601316 + 0.8411961
0.867822 — 0.9563881
0.193771 + 0.5059421

2.73490 4 4.636201

7.44058 — 7.483231

0.601316 — 0.8411961
0.867822 + 0.9563881
0.193771 — 0.5059421

b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

2.73490 — 4.636201

7.44058 +- 7.483231

0.645468 + 0.6838451
0.0195996 — 0.10366401
—0.539124 4- 0.6467511

3.24411 + 0.050631

9.93222 + 0.126601

0.645468 — 0.6838451
= 0.0195996 + 0.1036640.1

U
a
b
u =
a
b= —0.539124 — 0.6467511

3.24411 — 0.050631

9.93222 — 0.126601




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.614078 + 0.9663591
a = —1.02310 + 2.029181
b= —0.31554 — 2.132361

u =

9.31106 + 7.912751

9.40540 — 6.631451

u = 0.614078 — 0.9663591
a = —1.02310 — 2.029181
b= —0.31554 + 2.132361

9.31106 — 7.912751

9.40540 4 6.631451

u = —0.423229 + 0.7332641
a = —0.896141 — 0.3676501
b= 0.294342 + 0.5466541

0.00047 — 1.655141

0.39437 + 4.544701

u = —0.423229 — 0.7332641
a = —0.896141 + 0.3676501
b= 0.294342 — 0.5466541

0.00047 4 1.655141

0.39437 — 4.544701

u = —0.145430 + 0.7693931
a = —0.613814 + 1.2081601
b= 0.426833 — 0.1499981

—1.08342 — 1.495501

—1.76412 + 6.316711

u = —0.145430 — 0.7693931
a = —0.613814 — 1.2081601
b= 0.426833 + 0.1499981

1.08342 + 1.495501

—1.76412 — 6.316711

u = 0.866691 + 0.9171911
a = —0.900315 + 0.3197051
b= 0.08960 — 1.435591

7.59385 + 3.210861

2.30282 — 2.663721

u= 0.866691 —0.9171911
a = —0.900315 — 0.3197051

7.59385 — 3.210861

2.30282 4 2.663721

b= 0.08960 + 1.435591

u = —0.705788

a = —1.72336 7.74304 12.4360
b= 0.673766

u = —0.918056 + 0.9254411
a= 0.220309 + 0.4503791
b= 0.124115 — 1.2939801

12.49900 — 0.308261

9.65224 — 0.253251




Solutions to I7*

V=1(vol + y=1C)

Cusp shape

= —0.918056 — 0.9254411
0.220309 — 0.4503791
0.124115 + 1.2939801

12.49900 +- 0.308261

9.65224 4 0.253251

—0.945672 4 0.9029761
= —1.81639 — 0.297261
0.97029 + 3.380051

—19.5223 + 4.22871

11.43737 — 1.003701

= —0.945672 — 0.9029761
= —1.81639 4 0.297261
0.97029 — 3.380051

—19.5223 — 4.22871

11.43737 + 1.003701

0.915023 + 0.9413661
2.39534 — 0.899711
—0.12103 + 4.158791

14.7168 + 3.36811

10.32984 — 2.301841

0.915023 — 0.9413661
2.39534 + 0.899711
—0.12103 — 4.158791

14.7168 — 3.36811

10.32984 4 2.301841

—0.903860 + 0.9525441
1.222940 + 0.2828901
—0.231803 — 1.2070901

12.41050 — 6.400861

9.40627 4 4.902511

—0.903860 — 0.9525441
1.222940 — 0.2828901
—0.231803 + 1.2070901

12.41050 + 6.40086.1

9.40627 — 4.902511

—0.900364 + 0.9840231
—1.99724 — 1.521481
—0.77261 + 3.463441

19.6887 — 11.01261

11.01976 + 5.545931

—0.900364 — 0.9840231
—1.99724 + 1.521481
—0.77261 — 3.463441

19.6887 + 11.01261

11.01976 — 5.545931

0.161526 + 0.5651051
= 0.28634 — 2.322431
= —0.713364 + 0.5893781

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
Il

1.29270 + 0.725411

4.11413 + 2.969391




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = 0.161526 — 0.5651051
a= 0.28634 + 2.322431
b= —0.713364 — 0.5893781

1.29270 — 0.725411

4.11413 — 2.969391

u = —0.309046
a = —0.604076
b= —0.565378

0.870053

11.8550




IL. 1Y = (u? + b, —u®* +a+u, u* —u® +u? +1)

(i) Arc colorings

= (o)

ag —
ayp =

az =

(ii) Obstruction class =1

(iii) Cusp Shapes = —5u? + 6u + 7



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! ut —u? +u+ 1

C2,Cg, C7 v ud +3u+2u+1

c3,Cy u?

€4 ut —u? 4 3u? —2u + 1
Ccs W 1
s (u+1)*

€10, C11 (u— 1)4
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs y4+y3+3y2+2y+1
C2,Cy4,Cq y4+5y3+7y2+2y+1
Cr
€3,C9 y4
4
€8, €10, C11 (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y=1C)

Cusp shape

uw = —0.351808 + 0.7203421
a = —0.043315 — 1.2271907
b= 0.395123 + 0.5068441

1.43393 — 1.415101

6.86477 + 6.856271

uw = —0.351808 — 0.7203421
a = —0.043315 + 1.2271901
b= 0.395123 — 0.5068441

1.43393 + 1.415101

6.86477 — 6.856271

uw=0.851808 + 0.9112921
a = —0.956685 + 0.6412001
b= 0.10488 — 1.55249]

8.43568 + 3.163961

12.63523 — 2.294711

uw= 0.851808 — 0.911292]
a = —0.956685 — 0.6412001
b= 0.10488 4 1.552491

8.43568 — 3.163961

12.63523 + 2.294711
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
! (u* —ud +u® + 1) = 203 4 —du+ 1)
c2, Cp, C7 (u* 4+ u® 4 3u® + 2u + 1) (u®? + 63! + -+ — 56u% + 1)
3, Cg ut(u®? — w4 - 24u — 16)
Ca (u — ud + 3u® — 2u + 1) (u® + 6u3 + - — 560> + 1)
¢ (u* +ud +u? +1)(u?? — 203 4 —du+1)
Cs (w4 D)MW 4+ 5u3r + - —du — 1)
€10, C11 (uw— D)W 4563 4 —4u — 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢s W4+ 12+ 32 + 2y + D2 + 6% + - — 562 + 1)
o f? (' + 5% + 79" + 2y + D7 + 42 4~ 112y + 1)
¢s, Co v (y3% — 273 + - 4+ 448y + 256)
cs, €10, C11 (y—DH(*2 =355 +--- =22y + 1)
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